
同分母のたし算①   年  組   名前 

計算をしましょう。           

1. 

  

1 

+   

1 

=   

        
      

  3 3         
      

2. 

  

3 

+   

2 

= 
                

  6 6 
                

3. 

  

1 

+   

2 

= 
                

  4 4 
                

4. 

  

5 

+   

3 

= 
                

  7 7 
                

5. 

  

1 

+   

2 

= 
                

  6 6 
                

6. 

  

5 

+   

4 

= 
                

  7 7 
                

7. 

  

4 

+   

2 

= 
                

  6 6 
                

8. 

  

4 

+   

5 

= 
                

  7 7 
                

9. 

  

2 

+   

2 

= 
                

  7 7 
                

10. 

  

2 

+   

2 

= 
                

  4 4 
                



同分母のたし算②   年  組   名前 

計算をしましょう。           

1. 

  

5 

+   

2 

=   

        
      

  7 7         
      

2. 

  

4 

+   

2 

= 
                

  5 5 
                

3. 

  

1 

+   

2 

= 
                

  4 4 
                

4. 

  

5 

+   

5 

= 
                

  6 6 
                

5. 

  

3 

+   

1 

= 
                

  5 5 
                

6. 

  

3 

+   

3 

= 
                

  6 6 
                

7. 

  

5 

+   

2 

= 
                

  6 6 
                

8. 

  

4 

+   

5 

= 
                

  7 7 
                

9. 

  

2 

+   

2 

= 
                

  7 7 
                

10. 

  

2 

+   

2 

= 
                

  4 4 
                



同分母のたし算① 答え 

1. 

  

1 

+   

1 

=   

2 

    

                      
    

  3 3 3                       
    

2. 

  

3 

+   

2 

=   

5 

    

              
            

  6 6 6               
            

3. 

  

1 

+   

2 

=   

3 

    

              
            

  4 4 4               
            

4. 

  

5 

+   

3 

=   

8 

= 1 

1             
            

  7 7 7 7             
            

5. 

  

1 

+   

2 

=   

3 

    

              
            

  6 6 6               
            

6. 

  

5 

+   

4 

=   

9 

= 1 

2             
            

  7 7 7 7             
            

7. 

  

4 

+   

2 

=   

6 

= 1 

              
            

  6 6 6               
            

8. 

  

4 

+   

5 

=   

9 

= 1 

2             
            

  7 7 7 7             
            

9. 

  

2 

+   

2 

=   

4 

    

              
            

  7 7 7               
            

10. 

  

2 

+   

2 

=   

4 

= 1 

              
            

  4 4 4               
            

 



同分母のたし算② 答え 

1. 

  

5 

+   

2 

=   

7 

= 1 

                      
    

  7 7 7                       
    

2. 

  

4 

+   

2 

=   

6 

= 1 

1             
            

  5 5 5 5             
            

3. 

  

1 

+   

2 

=   

3 

    

              
            

  4 4 4               
            

4. 

  

5 

+   

5 

=   

10 

= 1 

4             
            

  6 6 6 6             
            

5. 

  

3 

+   

1 

=   

4 

    

              
            

  5 5 5               
            

6. 

  

3 

+   

3 

=   

6 

= 1 

             
            

  6 6 6              
            

7. 

  

5 

+   

2 

=   

7 

= 1 

1             
            

  6 6 6 6             
            

8. 

  

4 

+   

5 

=   

9 

= 1 

2             
            

  7 7 7 7             
            

9. 

  

2 

+   

2 

=   

4 
  

              
            

  7 7 7               
            

10. 

  

2 

+   

2 

=   

4 

= 1 

              
            

  4 4 4               
            

 


